F1T10 - EBIMITERREEG LR LREFEEE R ETMEE
hEREIW6FELIETA AL %
Lé&%é%%*r%ﬁ; e N erend e N
HERE R .  Nsms = v EINsER * DL s Pt _EER Luﬁiﬁ¢¢+ #UJ%%;)THE+\
4 i (EINE o N sk PR - FEEEIFH] | FDGH) HAth ey # (%) (%)
G =1/ AR iy ST
yazt 9,351.0 695.5 181.5  6,488.8 617.5  4,948.5 922.8  1,171.3 812.0 2.0 50,843.5  7,443.5 84.71 87.08
ZALH T AR 1,860.8 119.5 57.0  1,333.0 97.0  1,021.0 215.0 236.8 112.5 2.0 12,794.0  1,295.0 84.92 91.26
AR T AR 662.8 53.5 8.0 445.5 65.0 301.0 79.5 84.8 71.0 - 3,082.0 563.5 84.02 83.71
Bk AR 1,271.8 88.0 33.5 806.5 114.5 629.5 62.5 186.8 157.0 - 5,681.5 939.5 81.20 85.60
PR T 7ERE 726.5 43.5 14.0 526.0 50.0 369.0 107.0 89.0 54.0 - 4,175.0 615.0 85.53 86.65
BT T R 385.5 32.5 10.0 270.0 31.0 160.5 78.5 45.0 28.0 - 1,463.5 253.0 85.71 85.62
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EEMIT AR 247.0 26.5 1.0 164.0 8.0 153.0 3.0 32.5 23.0 - 1,325.5 195.5 83.46 87.33
2T ER 603.5 51.5 7.0 449.3 48.5 322.5 78.3 78.8 17.0 - 3,001.0 602.5 85.09 81.87
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TEUE N 7 2R 102.5 14.0 2.0 60.0 13.5 46.5 - 10.0 16.5 - 1,540.0 230.0 85.71 86.10
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B T AR 16.8 0.5 0.5 12.5 - 12.5 - 2.3 1.0 - 122.0 23.5 84.75 81.56
#; EAR[EIHARR (%) 0.05 -7.94 -12.5 -1.12 9.00 -3.24 4.62 2.36 20.30 0.00 -0.84 -0.33 -0.44* -0.23*
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